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@ % ﬁ) @j >y Kerro desimaalit kymmenelld negatiivisella
0 = : potenssilla

Nimi: Piivimadrd: __ Pisteet: ____
3687,2x0.1 = 1300,2 x 0.1 =
8946,3 x 0.01 = 5109,5x0.01 =
7260,2 x 0.1 = 6179,9 x0.1 =
3832,7x0.1 = 4813, 1 x0.01 =
8398,2 % 0.001 = 7672 x 0.0001 =
6200,9 x 0.1 = 7519,8 x 0.1 =
6427,3 x 0.001 = 5679,2 % 0.01 =
9588,9 x 0.0001 = 4290, 5 x 0.0001 =
7978,3 % 0.01 = 1187,6 x 0.01 =
6088,2 x 0.1 = 5133,2x0.1 =
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: potenssilla

Nimi: Piivimadrd: __ Pisteet: ____
3687,2 x 0.1 =368.72 1300,2 x 0.1 = 130.02
8946,3 x 0.01 = 89.463 5109,5 x0.01 = 51.095
7260,2 x 0.1 =726.02 6179,9%x0.1 =617.99
3832,7 x 0.1 =383.27 4813, 1 x0.01 =48.131
8398,2 % 0.001 = 8.3982 7672 x 0.0001 = 0.7672
6200, 9 x 0.1 = 620.09 7519,8 x 0.1 =751.98
6427,3 x 0.001 = 6.4273 5679,2 x0.01 = 56.792
9588, 9 x 0.0001 = 0.95889 4290, 5 x 0.0001 = 0.42905
7978,3 x 0.01 = 79.783 1187,6 x 0.01 = 11.876
6088,2 x 0.1 = 608.82 5133,2x0.1 =513.32
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